g oS AAZG oA Lx o] 2715 Faola
A
60°

\VARR 4
0x
i

D60 °

£x = (180° - 60°) + 2 = 60°




2. & 199 AABCOA AB = AC, /BAD = /CAD ¥ uj, CD 9
Zdolet L/ADC 9] Z7|& Fotoiet

A

Q

>
>
> He: CD=7cm
>

el ZADC =90 °

B9 Z|7}o] o] SRAL WL 4
= 7(cm), ZADC = 90°

E
ol
M
2
AL




@® 14 @ 15 ® 16 @)18 ® 19

Q12 0] AABC o] 4]

/ABC = /ACBO|E & AABCE o|5 WAz ot}

Sox=38

T, Q220 AABC oA

/BCA = 180° - (30° + 75°) = 75°°]| 2 & AABC = o] 5 HA}
Zhggoltt,

x=10

s(x9] dolo h=8+10=18

ofll




4. t& 1Yo|4 AB=AC =CD =DE °|t}. /B=25° 4 uf], .CDE
o] 37]& Fstole)

\VARR 4
0
iy

30°

B ~

/CAD =50°

/ACD = 180° - (50°x2) = 80°
/DCE = 180° — (25° + 80°) = 75°
/CDE = 180° — (75°x2) = 30°




thS Y04 AABCE= AB = AC¢l o]% A
HAZ ol /A 9] o] 5 EAT BC o] WY 107
< et A DA ACe] W& 40 7 Qe
e Eet o o, BC 9] Zdolv? D v
@ 10 @ 12 ® 14 @®)16 ® 18
1 j— —
AADC of A §><10><4.8: EXD x 6, DC = 802 =&

BC =2xDC = 16°|t}.




6.

o= 1™-NA AABC = /B = /C Q1 o] gAYt «C 9
o] 524°] AB ¢ ¥h= M2 D 2t & uj, AD ©] Zeol=?

A
D
A
B T~-5cm--"~

@ 3cm @ 4cm @BCm @ 6cm ® 7cm

/B =/C=172°09]1 /BCD = /ACD = 36° 9|22, /A = 36°
ojt}y. watA AABC, AADC & F YZte] 37|71 goEg
ol5HAZtgolt}, watA BC = DC = AD = 5cm ©]th,




om\T1 o @ | |1 o
©OREEEEE @ 472449

AABC 2} ADCB 9j| A

{)AC DB
i )«ABC = /DCB = 90°
iii)AB = DG

i), i), iii) °fl ¢} AABC = aADCB
w2kA /DBC = /ACB °]|BE2
APBC += o] sHAA S




=80°¢%

@ /DAB @AABE ® ¢ABC

@).acB @) .car

B

@ Zo] Hlo|ZZ HoW /BAC = /DAB = 80°
@ /ABE = 180° — ZABC = 180° - 80° = 100°
® (BAC = /ABC = 80° (97})
@ AABCQ WZ+9] ghe 180°0]1 2=

/ACB = 180°—80°—80°=20°
® /CAF = /ACB =20° (97




ZIALZYY WeFo] FolE oS T1H I} 7o)
A9l v, /BCD = 30° o|t}. o]d, /BAC
o] 27)& “Fotofet,

@ 100° @ 110° @120°

@ 130° ® 140°

(BCD = /BCA = 30°
(BCD = /ABC = 30° (3%)
/BAC =180°-60° = 120°




10.

e

T; FH 9l AABC,AFGH 7} ot «C 9] 9]Z}9]
B 9] 1—‘5—% Aol wAL D g star, /H 9 9]7He] o] 5
JP Zol 2.1 2 Uk Ao ¥ 12t et

o o, xo} yo] A=?

Mr o

rx oln

—EHE |
L5 I N o/
I QLO‘

=27
=
24°

LA =/
A D

24°

=

@ o1 01 @1 61

x 2}y 9 2= /DBC - /IGH 9} Ztt.
w2hA x 9 y o] 2= 39° - 26° = 13° o[t}




